Review Questions:
1. A tissue is a 
A. structure contained within a cell.
B. lower level of organization than a cell.
C. group of organs that performs specific functions.
D. group of cells with similar structure and function.
E. structure that contains a group of organs.

2. In a negative feedback mechanism, the response of the effector 
A. reverses the original stimulus.
B. enhances the original stimulus.
C. has no effect on the original stimulus.
D. is usually damaging to the body.
E. creates a cycle that leads away from homeostasis.

3. An atom has an atomic number of 19 and a mass number of 39. This atom will have 
A. 19 neutrons.
B. 20 neutrons.
C. 39 neutrons.
D. 58 neutrons.
E. 20 electrons.

4. A neutral atom will become a cation if it 
A. gains electrons.
B. gains protons.
C. loses electrons.
D. loses protons.
E. gains neutrons.

 5. Which of the following is a synthesis reaction? 
A. Two amino acids are bonded together to form a dipeptide.
B. Sucrose is chemically separated to form one molecule of glucose and one molecule of fructose.
C. Sodium chloride is dissolved in water.
D. Several dipeptide chains are formed from digestion of a long polypeptide chain.
E. ATP is converted to ADP.
6. Hyperventilation causes the loss of large amounts of carbon dioxide from the body, decreasing the amount of hydrogen ions in solution. As a result, 
A. the pH of body fluids will rise.
B. the pH of body fluids will fall.
C. the pH of body fluids will become neutral.
D. the pH of body fluids will not be affected.
E. None of these choices is correct.

 7. Consider the following five terms. Which term does not belong with the other four terms? 
A. disaccharide
B. sucrose
C. lactose
D. maltose
E. glucose
8. When a sperm cell comes into contact with an egg cell, there is a change in the electrical charge across the plasma membrane and various channel proteins close. These channels would be called 
A. open-gated channels.
B. voltage-gated channels.
C. chemical-gated channels.
D. ligand-gated channels.
E. nongated ion channels.

 9. The organelle that protects cells from the damaging effects of medications and toxins is the 
A. ribosome.
B. microtubule.
C. secretory vesicle.
D. smooth endoplasmic reticulum.
E. mitochondria.
10. Arrange the following in correct sequence: 
(1) protein moves through ER and then carried in vesicles to Golgi apparatus
(2) vesicle pinches off from the Golgi apparatus and carries product to plasma membrane
(3) Golgi apparatus modifies protein and then packages them into vesicles
(4) protein made by ribosomes on rough ER 
A. 1, 2, 3, 4
B. 4, 1, 3, 2
C. 2, 3, 1, 4
D. 3, 2, 4, 1
E. 4, 3, 2, 1
ANSWERS:

1.
D
2.
A

3.
B
4.
C
5.
A
6.
A
7.
E
8.
B
9.
D
10.
B
